

$$i\beta x - \cos \beta x + \sin \beta x$$

(2.3)

$$uLv - vLu = [P(uv' - u'v)]' \quad (1)$$

$$L = \frac{d}{dx} \left(P \frac{d}{dx} \right) + \pi$$

الطاقة الخفية

$$P'(uv' - u'v) + P(u'v'' + uv'' - v'u'' - u''v')$$

$$\Rightarrow P'(uv' - v'u') + P(uv'' - v'u'') \quad (1)$$

الطاقة الخفية

$$u \left[\left(P \frac{dv}{dx} \right)' + \pi v \right] - v \left[\left(P \frac{du}{dx} \right)' + \pi u \right]$$

$$= uPv' + u\pi v - vPu' - v\pi u$$

$$uLv - vLu =$$

$$= u \left[\left(P \frac{dv}{dx} \right)' + \pi v \right] - v \left[\left(P \frac{du}{dx} \right)' + \pi u \right]$$

$$= u(Pv'' + P'v') + \pi uv - v(Pu'' + P'u') - \pi vu$$

$$= uPv'' + uP'v' + u\pi v - vPu'' - vP'u' - v\pi u$$

$$= P'(uv' - v'u') + P(uv'' - v'u'')$$

وهو الطاقة الخفية وبالتالي تتحقق المعادلة

(2)

(3)

$$p y'' + q y' + r y + \lambda y = 0; p(x) > 0$$

$$\tilde{p} y'' + \tilde{p}' y' + \tilde{r} y + \lambda \tilde{w} y = 0$$

البرهان: ضرب المعادلة (*)

$$s p y'' + s q y' + s r y + \lambda s y = 0$$

$$\tilde{p} = s p \Rightarrow \tilde{p}' = (s p)' = s q$$

$$\Rightarrow s' p + s p' = s q \Rightarrow \frac{s'}{s} + \frac{p'}{p} = \frac{q}{p}$$

$$\Rightarrow \frac{ds}{s} + \frac{dp}{p} = \frac{q}{p} dx \Rightarrow \ln s p = \int \frac{q}{p} dx$$

$$\Rightarrow s p = e^{\int \frac{q}{p} dx} \Rightarrow s = \frac{1}{p} \exp\left(\int \frac{q}{p} dx\right)$$

$$\tilde{p} = s p = p', \quad \tilde{r} = s r, \quad \lambda \tilde{w} = \lambda s$$

$$(*) \Rightarrow \tilde{p} y'' + \tilde{p}' y' + \tilde{r} y + \lambda \tilde{w} y = 0$$

$$\frac{\cos x}{p(x)} \frac{d^2}{dx^2} + \frac{\sin x}{q(x)} \frac{d}{dx} - \frac{\cos^2 x}{r(x)} \quad (iii) \quad (4)$$

$$s \cos x \frac{d^2}{dx^2} + s \sin x \frac{d}{dx} - s \cos^2 x$$

$$\tilde{p} = s \cos x \Rightarrow \tilde{p}' = (s \cos x)' = s \sin x$$

$$\Rightarrow s' \cos x - s \sin x = s \sin x$$

$$\Rightarrow s' \cos x = 2s \sin x$$

$$\Rightarrow \frac{ds}{s} = 2 \frac{\sin x}{\cos x} dx = \ln | \sec^2 x | = \ln \sec^2 x$$

$$= \boxed{s = \sec^2 x}$$

